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> Repeat out to 54 Sub-Slaves or more

This uses "BUS" wiring topology
This uses token ring type negotiation

>

3.3V

R17
1kQ

Place resistors

R17, R18, R19, R27

at the end of the chain

220Q R18
AN ———

A
220Q R19

VSS

ov

33V
1.5 Amps
—1-  Articulating Boiler.spi | - in” 1"
rticulating Boiler.spin 884 spi 4884 .spin
GHI-F— 9 [} Spl n
10uF VDD 3.3V
+—\~ 3 -
10kQ PropPlug R8
— 220Q 470Q RO
Py R3 % 470Q
Eji;“i}sss; I LJl ] () LJ5 FQX ’\/VAV FQZ() ] () LJ3 F%X |
9 A0 VDD}— —1 Tx /\/\/2,) —ANAN—— —1 TX |
Al wp 2 SDA 220 470Q ) SDA —
b $ e sal 3 scL RS !L\EDE’ -3 SCL —
VSS  sDA AN~ 4 27 Y —4 27 —
Eeprom 10kQ 5 26 -5 26 —
241.C256 R2 6 25 -6 25 —
4 24 7 24 —
G\D- a +3.3v-b G\D- a +3.3v-b ~
— BCEN XO — BOEN XO —
— RESn Xl — RESNh Xl =
—+3.3v-a  G\D-b } —+3.3v-a G\D-b }
—8 23 100nF 8 23 — 100nF
100nFJ_ -9 22 " 100nFJ_ 9 22 L "
— 10 21 10 21 -
| —11 20 | —11 20 -
u2 —-12 19 - 12 19 —
-0 Rx -13 18 —13 18 -
-1 Tx — 14 17 — 14 17 -
—2 SDA — 15 PropDIP 16 — 15 PropDIP 16 —
-3 scL
—4 27
-5 26
|toopF 7 6 25
—7 24
T GND-a  +3.3v-b
BCEN XO
— RESn Xl
~+3.3v-a G\Db 0V [VSS 0V [VSS
—8 23
—9 22 R10
— 10 21 1kQ
Lep1 11 20
470QR24 N5 — ig ig propsTx ¢
VVV f;» propsRx
4700 RZS—’V\/\’%D‘Z_ 14 17 propsCiock
—VV\ 15 16 propsReset
4700 R26  LED3
PropDIP
oV |vss

This circuit with 55 props, one running the Articulating Boiler.spin and all others running the 4884 .spin program, uses 1.49 A @ 3.3v
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